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Warm Up

Suppose that AXYZ = ARST
1. XY =? E-s-
2. LZ=7 [T
3. 48522/ Y

4. If L4= /B A=2x+40)° B=(3x-10)°
Find x (ZX—l- 'io ‘—lD
+SO= Mo
Z.X O 3’):

4-6  Using Congruent Triangles
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Ex. 1

Ex. 2

November 12, 2012

Tell which triangles are congruent.

Give the postulate or theorem you would use to show they

are congruent.

List all congruent parts by CPCTC.
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Tell which triangles are congruent.

Give the postulate or theorem you would use to show they
are congruent.

List all congruent parts by CPCTC.
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Ex3  Write a two column proof.
Given: GK  bisects ~FGH and /F
Prove: TR =HE « NI /AN
Stad emenis \ N
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Ex 4 IfPis the midpoint of A4S,

304"
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Ex 5  Write a proof. 0

Given: /1= /2 /3=.4

Prove: AMNR = AQPR
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